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CIELABUS triangle lightness t*

t* Yoc=Yw  nc=100,

t* ciELABUs =50 (Y/Y) Y201 (V,=18, Y,/100<Y<=Y, )
t*(3,6)=23,t* ,(18)=50,t*,(90)=111

t*60=110,83y=2,0, 14=1/2,0=0,50
t*15=50,00 $=49,21 D,=0,78
162 U =
t3,622,74,,50,00 Y=18

log[t*/t* ,]=

1
1Y,=18
Yn=36 1 Yy=90

CIELABuU8
tristimulus value difference
YoemYw  nc=100,
t* CiELABUs =50 (Y/Y) Y201 (V=18 Y,/100<Y<=Y, )
log(dY) = (1/2,0) log[2,0¢,/49)] + [1-(1/2,0)] logY)

=50, dY,=4,06 dY,/Y,=0,2257 g #

dY;5=4,06
d¥a =187 "=

log (AY/Y) CIELABU8
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t* ciELABus =50 (Y/Y) Y201 (V=18 Y,/100Y<=Y, )
log(@Y/Y)= log[2,0(Y,/49)] - (1/2,0) log¢/Y,)
= (1/2,0) log[2,0¢,/49)] - (1/2,0) log{)

t*,=50, dY,=4,06 dY/Y

(dY/Y}=0,1009=2,0, 14=1/2,4=0, 50"
(dY/Y)g=0,2257 §=49,21 D=0,78
(dY/Y}=0,5036 Y,=18, dY=4,0p

1Y,=18
YN=36 , Yw=90

CIELABuU8
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t* CiELABUs =50 (Y/Y) Y201 (V=18 Y,/ 100<Y<=Y, )
log(Y/dY)= - log[2,0/,/49)] + (1/2,0) log{/Y,)
= (1/2,0) log[2,0¢,,/49)] + (1/2,0) log¥)

t*,=50, dY,=4,06 Y,/dY. =
log(Y/dY)=0,64 =0 “u
. .
.

(Y/dYy=9,90,y=2,0, 1§=1/2,0=8,50

(Y/dY)g=4.42 §=49,21 D,=0,78 application

(Y/dY} 6=1,98 Y,=18 dY;=4,06 ! range

'v,=18

Yn=3.6  Yyw=90

CIELABUS relative triangle lightness t*/t*,

e, Yoc=Yw  nc=100,
tCieLagus 50 (YY) 201 (V=18 ¥, /100<Y<=Y, )
t*(3,6)=23 1+ ,(18)=50 t*,(90)=111

tgg/t*,=2,21,y=2,0, 1§=1/2,0=0,50
t*1g/t*,=1,00 §=49,21 D,=0,78

e tu_ ok —| n_
t3,¢t*,=0,45,1,=50,00 Y=18

log[t*/t* ]=0, m,=0,49

application
range

1Y,=18
Yw=90

log(AY/AY,) CIELABUS relative
AYIAY tristimulus value difference
i YocmYw - nc=100,
tCieLagus 50 (YY) 201 (V=18 Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,0)] log¥//Y,)

dYeo/dY,=2,23,y=2,0, 14=1/2,0=0,50
dY;/dY,=1,00 §=49,21, D,=0,78
dYs,ddY,=0,44 Y,=18, dY=4,06

t*,=50, dY,
1 application
1 ge
1y =18
Y=90

log [(AY/Y) 1 AYIY),] CIELABUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
tCieLagus 50 (YY) 201 (V=18 Y, /100<Y<=Y, )
logl(dY)/(AY/Y),] = - (1/2,0) logi/Y,)

(dY/Ypo/(dY/Y)=0,44,y=2,0, 1§=1/2,0=0,50
(dY/Y)g/(dY/Y)=1,00 §=49,21 D,=0,78
Y00 i o
(@Y1 (CIY)-003 ¥=18 dY=4,06 0 % =
range

s
logl(dY/YY(dY/Y),]=0, my==0,a2 1 44 v
t*,=50, dY,=4,08 dY,/Y,=0,2257 !

1y,=18
Yae36 | Y200

log [(Y/AY) 1 (YIAY),] CIELABUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

tcieLagus 50 (YY) 201 (V=18 Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/2,0) logiY/Y,)

(Y/dY)o/(Y/dY)=2,23,y=2,0, 1§=1/2,0=0,50
(Y/dYYg/(Y/dY)=1,00 §=49,21 D;=0,78
(YIdYYd/(Y/dY)=0,44 Y,=18, dY=4,06

log[(Y/dY)(Y/dY),]=0, m ~u,4°

application
range

1Y,=18
Y=90

CIELABUS triangle lightness T*

— * =

T* Y=L w nc™

T*CiELaBus =50 (Y/Y) V201 (Y,=18, Y,/100Y<=Y,0)
T*\(3,6)=23,T*,(18)=50,T*y(90)=111

=110,83y=2,0, 14=1/2,0=0,50
T*16=50,00 $=49,21 D,=0,78
T*3,6722,74,1%,750,00 Y=18

1
\Y,=18
TVw=90

BEX81-1A

logAY) CIELABu8

AY tristimulus value difference
Yoc=L*w - nc=100,

T* CieLagus =50 (Y/Y) V2 %+L (Y,=18, Y,/100Y<=Y,o)

log(dY) = (1/2,0) log[2,0¢,/49)] + [1-(1/2,0)] logY)

T#,=50, dY,=4,06 dY,/Y,=0,2257 ="
-
log(dY)=4,06 m,=0,50

-
-

dYe=9,08,y=2.", +4=1/2,0=0,50
dY;g=4,06 S=49,21 D,;=0,78 1 application
dY3 1,81 Y,=18 d\=4,06 1 range
y,=18
MN=3.60 0 Y =90 T

BEX81-3A

log AY/Y) CIELABu8

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
T*CieLaBus =50 (Y/Y) V2 %+L (Y,=18, Y,/100Y<=Y,o)
log(dY/Y)= log[2,0(Y,/49)] - (1/2,0) log{/Y,,)
= (1/2,0) log[2,0¢,/49)] - (1/2,0) log{)

. application
T*,=50, dY,=4,06 dY,/Y,=0,2257 1 %.5/2"9¢
1

(dY/Y)g=0,1009y=2,0, 14=1/2,G=0,50

(dY/Y)g=0,2257 S,=49,21 D,=0,78

(dY/Y} 6=0,5036 Y,=18, d\=4,0p
1Y,=18
=90

Yn=3,6
BEX81-5A

log (Y/AY) CIELABU8

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T*CiELaBus =50 (Y/Y) V201 (Y,=18, Y,/100Y<=Y,0)
log(Y/dY)= - log[2,0,,/49)] + (1/2,0) log¥/Y,)
~ (1/2,0) log[2,0¢,/49)] + (1/2,0) logY)

T*,=50, dY,=4,06 Y,/dY,=4
log(Y/dY)=0,64 m,=0,50

-
-

(Y/dYy=9,90,y=2,0, 1§=1/2,0=6,50

(Y/dY)g=4,42 §=49,21 D,;=0,78  application

(Y/dY} 6=1,98 Y,=18 dY;=4,06 ! range
'v,=18

¥N=3.600 Yy =90 T

BEX81-7A
BEX81-7N

TUB-test chart BEX8; CIELABugt* & T* for Y/Y, with additional dataYn=
Absolute and relative lightness, sensitivity and contf&st49,21, 1y=1/2,0=
M Y

THT* CIELABUS relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T* cieLapus =50 (YY) Y2041 (¥,=18, ¥,/100<Y<=Y, )
T*n(3,6)=23,T*,(18)=50,T*(90)=111

T*9g/T*,=2,21,y=2,0, 1¥=1/2,0=0,50
T*19/T*,;=1,00 §=49,21 D,=0,78
T3 dT#,=0,45,T%,=50,00 Y=18
log[T*/T*]=0, m;=0,49
L*,=49,T* =50
1 application
1 range
1Y,=18
Yi=90

BEX81-2A

log(AY/AY,) CIELABUS relative
tristimulus value difference

AYIAY, oozl r gy 100,

T* cieLaBus =50 (YY) Y201 (¥,=18, ¥,/100<Y<=Y, )
log(dY/dY,) = [1-(1/2,0)] log{/Y,)

dYo/dY,=2,23,y=2,0, 1§=1/2,0=0,50
dY;g/dY,=1,00 §,=49,21 D,=0,78
d¥s ¢dY,=0,44 Y,=18, dY=4,06
s
-
log[(dYY(dY),]=0, m;=0,50 , #
o 1 application
< 1 nge
1Y,=18

YN=3.6  Yw=90

BEXB1-4A
log [(AY/Y) | (AYIY),] CIELABUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* cieLaBus =50 (YY) Y201 (¥,=18, ¥,/100<Y<=Y, )
log[(dYM/(dY/Y)y] = = (1/2,0) log¥/Y,)

(dY/Yyo/(dY/Y)=0,44,y=2,0, 14=1/2,0=0,50
(dY/Y)g/(dY/Y)=1,00 §,=49,21 D,=0,78
o2 v ]
(VYR (Y223 V=18 dY=4.06,5 % 2 -
RSN range

logl(dY/YY(dY/Y),]=0, m,=—0,49 ~
T#,=50, dY,=4,08 dY,/Y,=0,2257 !
/=100y
YR=3.67 =90 T

BEXB1-6A
log [(Y/AY) I (YIAY),] CIELABUS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T* cieLaBus =50 (YY) Y201 (¥,=18, ¥,/100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/2,0) loglY/Y,)

(Y/dYbOI(Y/dY), 2, 23 rz,o 1xr1/2 0=0,50
(Y/dYYg/(Y/dY)= 21 D,=0,78
(YIdYY J(YIdY = 44 Yu 18, d\=4,06

log[(Y/dYY(Y/dY)J=0, m=0,49 &~
td

T*,=50, dY,=4,06 Y,/dV,
> 1 application
- 1 range

1y,=18
NNE3601 Ya =90 T

BEX81-8A

indino Ae|dsip Jo Juswainseaw Joj uoneoldde

Sd'/ 4ad'dN018X39/8X39-T0€0220Z :uonensibal ani

9po09 :JeudreWw gN.L

Y=




